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	Question 3

Read lines 30-43.

(a) Explain in your own words why the writer thinks that the theory of the “survival of the fittest” will have to be reconsidered.
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	General Advice

· Understanding type question

· Underline the phrase “in your own words”: blatant lifts – 0


	
	

	Specific Advice

· Follow the advice given in the question. 

· Go to lines 30-43. 

· Read the first sentence of lines 30-43 and address the words of the question to that part. Does it tell you “why the writer thinks that the theory of the survival of the fittest “ will have to be reconsidered? 

· If it does not, repeat the process for the next sentence, always applying the words of the question to the sentence.

·  Does the following sentence tell you “why the writer thinks the theory of the survival of the fittest will have to be reconsidered?

· If it does, explain why in your own words

· Go on and repeat the process until you find another example.
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